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Company: Cathedral Energy Services State: CO

Well: Mathwes 4F-14H County: Weld

Field: DJ Country: US

Well ID: 051233684000

Job Number: 135269

Location: Weld Elev KB: 5117

Operator 1: Encana Oil & Gas Elev DF: 5117

Operator 2: Andrew Stewart Elev GL: 5104

Comment 1:

Comment 2:

Comment 3:

Comment 4:

Comment 5:

Hole Data Casing Record

Size From To Size From To
12.25 0 1414 9.625 0 1406
8.75 1414 7920

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N 1061 1061

Cal Factor 4.15 4.15

Gamma Offset 38.92 38.92

Start Depth 5000 7281

Start Date 7/3/2013 7/6/2013

Start Time 0300 2100

End Depth 7281 7920

End Date 7/6/2013 7/8/2013

End Time 2000 0900

Gamma API (MD) Track: 1
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